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Random trigger
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Pedestal cut > 920
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ADCsum histogram for other pedestal
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ADCsum histogram for other pedestal
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Pedestal from backward
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Waveform
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Propagation velocity



Position resolution

Posiion [cm]

Positian [cm]

-5

position resolution0

C ¥/ ndt 2.399/1
L slope  -11.09+ 0.4766
[ intercept -45.48 +1.727

TS R NS N R

5 25

mean of delta t[ns]
position resolutions

[ ¥/ ndf 8.778/1
L slope  -10.36+ 0.1456
[ intercept —43.32 + 0.5977
Bl e b Lo b d

-5 45 -4 35 ]

mean of delta t[ns]

Position [m]

Positian [cm]

position resolution1

¥2  ndf 0.1743/1

-10.614 0.1641

- slope

F intercept —43.98 + 0.6627

T IR AN WA VIS AN
= 25

mean of detta t [ns]

position resolution6

%2/ ndf 1625/1

-10.32 £ 0.1472

slope

r intercept-42.97 + 0.5968

Bl b ber b b
5 45 4

Position [m]

Positian [cm]

~15)

position resolution2

#* [ ndf 1.857/1

-10.87 £ 0.168

- slope

intercept —45.2 £ 0.6843

WS FEE T EEET T
=

4.5 -4

mean of delta  [ns]

position resolution?

%° { ndf 0.1442/11

slope

-10.05 +£0.1378

intercept -41.35 + 0.5553

o e b b b
= 45 ) 35 ) 25

mean of delta  [ns]

Position [cm]

Positian [cm]

position resolution3

i ¥4 ndf 0.4816/1
L slope  -10.32 + 0.1514
[ intercept —43.23 + 0.6297
e b b b bead
-5 25
mean of delta t[ns]
position resolution8
L #* 1 ndf 0.1332/1
L slope  -10.21+0.1446
3 intercept —41.66 + 0.5762
[N TR FEEE AR AR |
-5 4.5 4 3.5 -3 25

mean of delta t[ns]

Position [m]

position resolution4

[ %%/ ndf 0.2339/1
L slope  -10.17 £ 0.1419
[ intercept —42.69 = 0.5795
I N W NS ERE WS FRR.
= 25

mean of detta 1 [ns]

10



Propagation velocity
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Position resolution(82 HZ4
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Analysis
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Comparison with simulation
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Simulation data(aluminum box, data 0)
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Experimental data(aluminum box, data0)
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Simulation data(bunched part, data 0)
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Experimental data(bunched part, data0)
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Waveform (919 < Pedestal < 919.5)
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Waveform (919 < Pedestal < 919.5)
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Waveform(Pedestal > 920)
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Waveform (Pedestal > 920)

ADCJ[0]:point[0] {Pedestal[0] > 920 && Pedestal_rms[0] < 40}
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root [28] tree-=Draw("ADC[0O]:point[0]","Pedestal[0] > 920 && Pedestal rms[0] < 4
o","CoLZ",5,155)
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root [30] tree->Draw("ADC[O]:point[0]", "Pedestal[@] > 920 && Pedestal rms[0] < 4

@","COLZ",3,160)




